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1. (FIF8) For the problem below, show your work and box your answer.

During a rainy spring season, Darmy notices that the lawn at her house is growing at a rapid pace. She
measures its height and records her findings in the table below:
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2. (FIF6) For the problem below, circle your answer and explain in a complete sentence.

The graph shows the displacement of an elevator during a test as it moved between floors during a six-
minute period.
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3. (FLE2) For the problem below, circle your answer and explain in a complete sentence.

The graph below represents the function y = f{x).Which equation correcily represents this graph
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4. (FLEZ2) For the problem below, circle your answer and explain in a complete sentence.

Water is leaking at a constant rate from a city swimming pool. The graph on the coordinate plane
represents the functional relationship between d, the number of days the pool leaks, and f{d), the amount
of water (in thousands of galions) in the pool. Which equation describes this relationship?

0. @) f(d)=35-1.5d
B fid)=35+15d

™ ¢ f(dy=1.5+35d
275 f{d) = 1.5 - 35d
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5. (FLE2) A linear function passes through the points (—12,—5) and (6,—8). What is its equation?
Show your math work and then write a CEEL paragraph defending your answer.
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6. (FLES) For the problem below, circle your answer and explain in a complete sentence

When a hot air balloon descends, its height above the ground over time can be modeled by the
equation #=980—4m , where h is the balloon's height in feet after m minutes. What does the number 980
in the equation represent?

the height of the balloon before It begins Its descent
the number of minutes It takes for the balloon to land
the number of feet the balloon drops each minute
the height of the balloon after 4 minutes
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7. (FLES) Show your work, box your answer and explain it in one complete
sentence.

Eva walks at a constant rate from her house to the park. The line on the coordinate grid below represents
the distance she walked as a function of time. Calculate the slope and describe how it relates to Evaggin
a complete sentence.
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